Unit 10, Week |, Lesson |
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Use the formal written method to calculate HTO x @)

M Write the multiples of 100 that each of these numbers Example
comes between. Circle the multiple of 100 it is closest to. 700756
€
ﬁ Choose eight numbers from Challenge 1. Exampl
Multiply four numbers by 2 and four numbers by 3. o 0
Estimate the answer first then use the formal 75556
written method to work out the answer. i 1B
25658
llenge
Multiply the two numbers alongside each other in the
bottom row together to find the number above in the Example
second row. Multiply the two numbers in the second
row together to find the number at the top. Calculate 90
the answers mentally for as long as you are able, then
use the formal written method. 6 ’l( 15
2 >'< 3 >I< 5
a b c d
36| 4 2 48 | 7 1 64 | 3 2 894 19
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Unit 10, Week I, Lesson 2

Use the formal written method to calculate HTO x O

Challenge
1 Count back in multiples of the number in the box.
Copy and complete each sequence.

270, :
600, . :

C 810, L : . ; -
d @0 440 |, O

2 Choose a multiple of 100 from box A and a multiple of 100 from box B.
Add them together and write the answer. Make eight calculations.
Choose different numbers each time.

Challenge
1 Estimate the answer to each calculation. Example
4 246x3 b 849x4 ¢ 687x9 d 684xg I73Xx7-+500x7=35

Th s R @

EIZ63 X B I g g 549x5 h /736 x 8 S
2 Find the answer to each of the calculations above using : -
the formal written method of multiplication. Check your 3 ; j >

answer is close to your estimated answer.

hallenge . .. . ) ‘
Find the missing numbers in these calculations.

a 463x M =2315 257 x £ = 1028 ¢ 337 x /\ = 2022

d 835x M =2505 e 476« A-320 i 73, /\ = 1472 r




Unit 10, Week |, Lesson 3

Use the most efficient method to calculate HTO x @)

E

llenge
3

18

1 a Bx2 Lty ey 3
b 80x2 b 40x7
c. 800 x2 c 400x7
4 a 9x8 a9 7 6
90 x 8 b 90x7
C 900'x'8 € D007

233% 3 432 x 3 655 x 4 632 x 3

637 x8 434 x 2 213 %3 754 x 2

Play this game with a partner. Each player chooses
a number from the circles on the right.
Take turns to:
* roll the dice
* multiply the number on the dice by
your chosen number
 choose the most appropriate method to
calculate the answer, mental or written.
If you choose a written method , write the estimated
answer first and then show your working out.
Compare your answers each time. The player with
the largest answer scores one point. The first player
to score five points is the winner

746 x8 . . 869 x7

779 x 9 856 x 7

You will need:
® 0-9 dice



Unit 10, Week I, Lesson 4

L oh A

* Solving word prablems (3

Challenge
Use the information in the pictures to answer the questions.
¢ The school buys 3

a The school buys b The music teacher buys
6 clarinets. What 6 guitars. How much do k_ey boards and 3 drum
is the total cost? they cost altogether? kits. How much do
’ they spend?
d How much e If the school
more does bought 1 of each
a drum kit of the string
cost than a instruments what
keyboard? is the total cost?
f The music club g How much
want to buy 1 change from
- of each jtem. £1000 do you
How much - get if you buy
money will 5 violins?
they need?

Challenge

3

Write your own word problems for these |
calculations. Swap them with a friend to solve.

a 438954 7 b 1000 - 289
¢ 852 +289 + 168 d 852x6



Use factors and multiples to recognise equivalent
fractions and simplify fractions

m 1 Continue the equivalent fraction pattern.

Lo SRR OO M Nyamm . R NS
Ris s AT TR o b e
2 Explain what an equivalent fraction is.
allenge )
/B8 1 Continue the equivalent fraction pattern.
s i T R S Lo NI
B Tk T o ™ b BT o e . i
L™ M IR e il v m
A T 145~ g = " d e T =
2 Simplify these fractions.
2 5 i3 8 D 68
4 1 b 24 S 9% d 40 €5 f 18
LA 6 | g ;o 2, 20
E 56 h 60 a8 T k 77 ! 70

Zum__________ Sl S T Y
a3‘6_9_12‘15_18 b5_ e s 2 =
2 Simplify these fractions.
12 10 il 36 20
didiens. D 02 € 35 d > &5
32 54 44 297 R :
e g .2 h 5 T J

3 Explain why % cannot be simplified?

20



U 10, ek L LsonZ S .\(‘

hailenge
2 Add these fractions.

3 o S 3 4 Fr Sl 4 (SIR

Qo dis Do s e d 101 70 S5l
3y G 8, 4 Al 8,5

f 12t & 10t LR gt = St

hallenge ) _
5 1 Add these fractions.

T 8l Sl i) 1905

a itatan b 13173 Sviaeibine d 1002900 8o . Ta it
CHURTA 5 15 115 ) e 10 , 10

f 14 t 12 g8 Ft15 h o0t a0 . LS5t 50 T

2 Write these improper fractions as mixed numbers.
_ _ Example

8 12 13 8 16 ‘

ars o (el = [ i e -2 il 8t 29
6 7 9 5 10 R 18 :
14 2 3 R A 16 -

i B e e SRk P



Unit 10, Week 2, Lesson 3~ ‘

Subtracting

‘Subtra'ct fractions with the same denominator

e oL i Lo

o B R
ﬂ Subtract these fractions.

4 A e R TR

s oy R T
M 1 Subtract these fractions.

. 24 o §-4

¢ 7% B

& 06~ 00 h %%

2 Write these improper fractions as mixed numbers. Example

a 14 b 2 c B

d e 2 i

8 3 ik o
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What fraction of each chocolate bar will each child get if there are:

Challenge

1 a 2 children at table A?
b 6 children at table B?
a 3 children at table A?
b 5 children at table B?
3 a 4 children at table A?

b 4 children at table B?

What fraction of each chocolate bar will each child get if there are:
A e

T a 2 children at table A?
b 4 children at table B?
C 4 children at table C?
2 a 3children attable A? b 2 children at table B? ¢ 5 children at table C?
3 a 1 child at table A? b 3 children at table B? ¢ 6 children at table C?

What fraction of each chocolate bar will each child get if there are:

1 a 4 children at table A?

b 2 children at table B?
6 children at table C?
5 children at table A?
4 children at table B?
3 children at table C?

T (9]

(2}




Unit 10, Week 3, Lesson | '

H Write the capacity of each container in four

ﬂ

llenge
3

24

Example
7600ml = 7000ml + 600 m|
=71 600ml

different ways. = ot

T Write these amounts in litres.

a 3500ml b 2700ml. . 42005 Example
4300ml = 4000ml + 300 m]|
d 1900m]| e 5600ml f 6800ml =58y

2 Write these amounts in litres.

a 6250ml b 9750ml c 6510ml
d 8980ml| e 7020ml f 10050ml

3 Write these capacities in millilitres.

a: . 7:471 b 5.82/ c 609/
d 5.137 e 9.95/ f 1066/

The car mechanic has three metal jugs.

The first jug will hold 3 litres. The second
jug will hold 5 litres. The third jug is much
larger than the other two jugs. Explain how
the mechanic can use the three jugs to
measure exactly 4 litres of brake fluid.




Unit 10, Week 3, Lesson 2 -~ ('
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Science lab litres

Example
3:751 = 3000ml + 750 m|
=23750m!

Challenge
Professor Mack has five measuring
jugs and an empty container.

He has mislaid his other measuring
jugs but he can use these jugs
more than once.

Explain how he can pour 1 litre of
water into an empty container using:

a 2 measures b 3 measures ¢ 4 measures d 5 measures

Challen
; a:; : The table shows the amount of water, tea and milk a science student had each day.

Use the information in the pictures to work out how many millilitres of liquid he
drank each day.

Day Bottles of Mugs of tea Small
water cartons of

milk
Monday 3 2 1
Tuesday 2 2 2
Wednesday 1 4 3
Thursday 3 3 4
Friday 2 1 5




Unit 10, Week 3, Lesson 3 .

lenges
2

1000 mlI
900 ml
800ml

700m|

llenge |
For each of the four measuring jugs write the amount of liquid:

a in millilitres
b rounded to the nearest 100 ml

1000m!

800mi

alienge
The table shows the engine capacity of a

family car. Copy and complete the table Capacity | Rounded to nearest: Capacity
for cars with these engine capacities. ingn! 10mi | 100mi | inlitres
1385 1390 1400 1-4
a 1612ml b 1775ml
c 1990ml d 2235m|

26



Unit 10, Week 3, Lesson Y

Litres of juice

Look at the instructions on the bottle of blackcurrant juice.
Copy and complete the table.

Blackcurrant Amount of
o Water ;
juice drink made
01/ 0-4] 0-51
0-15/ Mix 1 measure
0-25] of juice with 4
measures of
033/ water.
By
0-671
31
151

fh“ge"“ The blackcurrant juice is also sold in 0-33; cartons.
a How many litres are there in-
a 1 pack of 6 cartons?

b 10 packs of 6 cartons? ' ’



Unit Il, Week |, Lesson |
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* Add numbers with up to 4 digits using the formal written

method of columnar addition :
¢ Estimate and use inverse operations to check answers to a calculation

-

Ilenge
2 1

3 BN

28

Your target is to get an answer as close
to 1000 as possible.

Roll the dice six times and decide where
to write each digit. Then work out the
answer to the calculation. Do this ten
times.

Which of your calculations is closest
to 10007?

Your target is to get an answer as close
to 8000 as possible.

Roll the dice eight times and decide
where to write each digit. Then work
out the answer to the calculation.

Do this ten times.

Which of your calculations is closest
to 80007 Explain how you know,

Your target is to get an answer as close
to 12000 as possible.

Roll the dice eight times and decide
where to write each digit. Then work
out the answer to the calculation.

Do this ten times.

Which of your calculations is closest
to 120007 Explain how you know.

A

You will need:
e 0-9 dice

Rule -
M T 0

LI
« LI

Record your
calculations
like this:

Rule
Recordyour Th H T O
calculations
like this: D D D D

L1000

Rule
Recordyour Th H T O
calculations
like this: D D D D

OO0




Unit Il, Week |, Lesson 2

_E ® Subtract

method of columnar subtraction
i ¢ Estimate and use inverse operations to check answers to 3 calculation

Challenge
1

Challenge
/i 1

Your target is to get an answer as close
to 400 as possible.

Roll the dice six times and decide where
to write each digit. Then work out the
answer to the calculation. Do this ten
times.

Which of your calculations js closest
to 400?

Your target is to get an answer as close
to 4000 as possible.

Roll the dice eight times and decide
where to write each digit. Then work
out the answer to the calculation.

Do this ten times.

Which of your calculations is closest
to 4000? Explain how you know.

Your target is to get an answer as close
to 5000 as possible.

Roll the dice eight times and decide
where to write each digit. Then work
out the answer to the calculation.
Do this ten times.

Which of your calculations s closest
to 50007 Explain how you know.

numbers with up to 4 digits using the formal written

You will need:
® 0-9 dice

Rule

Record your et 9

calculations D [ ] D
like this: il D D D

Rule

Record your Th BT @)

@ Oooo
= B Bl JE ]

Rule

Record your ThaHs 100

calculations

like this: LT
BN RN



